EARAROBEEIERT — 2 N— IBISH —F

(108 B r el

[AE<%] 1 7% :1,700,000 § 2 j& :408,000 § 3 & :204,000 4

20175%7H148 (&) SEIEME3A

H5R3IWLE

(xwlw | lmEmml - |5 ) e

4 7% 136,000 B 5 3& :102,000 [

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< < ALEE :02. —6-4— . — RARK (BE)
1111113 vLzu7 o4 ZH 2(0_2)3 6-6-4-3 | 39.3 2 :5; N
LG4 7 hT—EY B:TUFN- Sz e ]
. EfanE .02. o £ . — HFHE (EE)
N e # o | xH oa e = ] e e
YL KYIYRIR BI—L v UR—H i &
. ey .02, 20— o| - AT ()
3077 T—29)F7— o7 57.0—7— 2(;)%:;5 2-2-2-2 | 40.0 3 ;1_823) i
LT Y TFr Bixv o bA— FER
44 | EEX 2:02.6 1-1-1-1 | 40.3| — 1 508 | #HEA (EH)
4 6 Y1 2AY 56.0 (1/2) (-5) SFEHIET
R:772AV)I7 B:I-E—FF e 7 7 — L4
. w7 | TIHER 2:02.7 4-4-3-4 [ 39.9| — 4 505 | REME (FEH)
5 3 N—TVAX > - 57.0 (1/2) (-5) LAE
LixiAnq/O— B:aLTLA H—L—-Jv/X> - T7—LARS
S : 6 | WREHR 2:03.8 9-9-7-6 | 40. - 4 A10E L1 (e =2))
ol 4|/ NL—FHR " 55.0 @ 03 ¢ (_676) &) A-ArAX
LT RIA VT Yy IX B:T7AUDLE21 ML KiLHS
— s TERE . —7-8- - #FFHE (EMA)
5|5 |7oavsc 07 pg | et el - fe | EERg
v TNVRry b BiFTIIVIARAIN P NN
A= . o9 | JRE— 2:05.2 5-5-6-8 | 42.1| — 8 508 | BA(EE (FfH)
glglg|¥>¥777—RK 54.0 @) (g) | HEBE
R:¥>in10—- B:ox5L-) [FalEspaed
— BT :08. -3-9- . - IV (FERG)
9lglg | ¥f74—Z3—I SR A (29(3%2) AN ’ fz NI
LRFAT—E BRAF1—HT— (B) HEaA—FKL—a>AETr
® I—F—@EBIERL
13—7F— 6,7,9,3,8,1,5,2,4
20—7— 6,7,9,3,8,1,5,2,4
3T—7— 6,7,3,1,2,8,4,5,9
41—F— 6,7,1,3,2,4,5,8,9
[ N5
B 1 300H 794K 1-2 720MH & 1-2 3,060 &R 1-2-7 2,230
7 B 1 140 1-7 20| | B = 1-2 3,400M | | 3EE 1-2-7 15,990
2 320H 2-7 740M B H 1-2 3,520M
7 170

ABICOVWTRDTEEERROODE. TR LIV,




